
24

22

25 26

27

5

13 10

17

3

2

1

4

16
7

6 8

9

19

15

14

18

21

11

12

20

95

92

93

90
89 

82

81

80

85

8679

94

87

76

77

91

88

9684
83

31

28

29

52

55

53

48

34

50

49

54

56

62

 
 
 
 
 

 
 

PONTOON HC 70
70 LBS THRU�  - 24 VOLT - 42 AMPS - 52” SHA� 

2184923 rev C  ECN 36427   6/15

©2015 Johnson Outdoors Marine Electronics, Inc.

PARTS DIAGRAM

SLeesch
Typewritten Text
for use with "Q" serial numbers  2-year warranty

SLeesch
Typewritten Text



PONTOON HC 70
70 LBS THRU�   -  24 VOLT  -  52” SHA� 

ITEM QTY
PART 

NUMBER
DESCRIPTION

1 1 2-100-119 ARMATURE � SEMBLY 12 V 3.625

2 1 140-010 BALL BEARING

3 1 788-015 R� AINING RING

4 1 2-200-005 CENTER HOUSING � SEMBLY

5 1 2-300-139 BRUSH END HOUSING � SEMBLY SPDCO

6 1 2-400-101 P� IN END HOUSING � SEMBLY

7 1 144-049 BEARING — F� NGE (SERVICE ONLY)

8 1 880-003 SEAL

9 1 800-006 SEAL W/SHIELD

10 2 188-037 BRUSH � SEMBLY

11 1 725-035 TUBE — BRUSH R� ENTION

12 1 738-036 BRUSH P� TE WITH HOLDER

13 2 975-040 TORSION SPRING

14 1 337-036 G� K� 

15 2 701-008 O-RING THRU BOLT

16 1 701-081 O-RING

17 2 830-007 #8-32 SCREW

18 2 830-008 THRU BOLT 10-32X8.83

19 1 990-067 W� HER — � EEL THRU� 

20 2 990-070 W� HER — NY� TRON

21 1 2096039 MOTOR � SEMBLY 24V F/W 3.625 5SPCO

22 1 2032068 TUBE — COMPOSITE-52”

n 1 1378131 PROPELLER KIT

*24 1 2061160 PROPELLER — W/WEDGE 2

*25 1 2151726 W� HER — 5/16 SS

*26 1 2053101 NUT — PROP NYLOC

*27 1 2092600 PIN — DRIVE

n 1 2991715 PONTOON BRACK�  � SEMBLY

28 1 2261915 LE�  BRACK� 

29 1 2261916 RIGHT BRACK� 

31 2 2265689 DE� L, MINNKOTA

34 2 2261727 BRACK�  SPACER

48 1 2263511 BOLT 3/8-16 X 4.0”

49 1 2263114 NUT — NYLOCK JAM 3/8-16

50 1 2991829 HINGE-DOOR-KNOB-� SEMBLY

52 2 2261537 HINGE SLEEVE

53 1 2260905 HANDLE — SO�  GRIP, L&D

54 1 2261728 W� HER — R� AINING 3/8”

55 2 2053415 SCREW #8-32 X 3/8” TRI

56 2 2261732 W� HER #8, NYLON

62 1 2264703 INSERT — THREADED

76 1 2060285 COVER — CONTROL BOX

77 1 2275618 DE� L — COVER EDGE 55/H

79 1 2302743 SPRING — D� ENT HANDLE-TILT

ITEM QTY
PART 

NUMBER
DESCRIPTION

80 6 2303412 SCREW — 6-20 X 5/8 SELF TAP

81 1 2033400 SCREW — 10-24 X 1-3/4

82 1 2013110 NUT — 10-24 HEX (ZCP)

83 1 2011365 SCREW — COL� R/NEW KNOB

84 1 2031520 COL� R — DEPTH W/O INSERT

85 1 2062551 CONTROL BOX P�   W/HAND

86 1 2064028 SWITCH — FWD/REV 5SP

87 1 2990912 HANDLE � SEMBLY-W/U-JOINT 5SP

88 1 2302742 SPRING — D� ENT OFF

89 1 2302745 SPRING — RELE� E BUTTON

90 1 2303720 RELE� E BUTTON — HANDLE

91 1 2060408 HANDLE — TOP HALF

92 1 2060415 HANDLE — LOWER HALF

93 5 2303412 SCREW — 6-20 X 5/8 SELF TAP

94 2 2060005 BEARING — HANDLE PIVOT

95 1 2090650 LEADWIRE — 10 GA RINGS

96 2 2020700 TERMINAL RING, 3/8”

n 1 2994838 BAG � SEMBLY — BOLTS NUTS W� HERS

*98 6 2263462 SCREW 1/4-20X2 SS

*99 6 2261713 W� HER — 1/4 F� T 18-18

*100 6 2263101 NUT — 1/4-20 NYLOC-JAM

n 1 2888460 SEAL & O-RING KIT

n THIS ITEM IS PART OF AN � SEMBLY.
*THIS ITEM IS PART OF A KIT AND ONLY LI� ED FOR VIEWING PURPOS� .

  ©2015 Johnson Outdoors Marine Electronics, Inc.

PARTS LIST



CONNECTING THE BATTERIES
12 VOLT SYSTEMS: 

1. Make sure that the motor is switched off  (speed selector on “OFF” or “0”).

2. Connect positive ( + ) red lead to positive ( + ) battery terminal.

3. Connect negative ( – ) black lead to negative ( – ) battery terminal.

4. For safety reasons do not switch the motor on until the propeller is in the water.

CAUTION:
For safety reasons, disconnect the motor from the battery/batteries when the motor is not in use or while the 
battery/batteries are being charged.

SELECTING THE CORRECT BATTERIES
The motor will operate with any lead acid, deep cycle marine 12 volt battery/batteries. For best results, use a deep cycle, marine 
battery with at least a 105 ampere hour rating. Maintain battery at full charge. Proper care will ensure having battery power 
when you need it, and will signifi cantly improve the battery life. Failure to recharge lead-acid batteries (within 12-24 hours) is the 
leading cause of premature battery failure. Use a multi-stage charger to avoid overcharging. We off er a wide selection of chargers 
to fi t your charging needs. If you are using a crank battery to start a gasoline outboard, we recommend that you use a separate 
deep cycle marine battery/batteries for your Minn Kota trolling motor.

Advice Regarding Batteries:

• Never connect the (+) and the (–) terminals of the same battery together. Take care that no metal object can fall onto the 
battery and short the terminals. This would immediately lead to a short and extreme fi re danger.

• It is highly recommended that a circuit breaker or fuse be used with this trolling motor. Refer to “Conductor Gauge and Circuit 
Breaker Sizing Table” in the previous section to fi nd the appropriate circuit breaker or fuse for your motor. For motors requiring 
a 60-amp breaker, the Minn Kota MKR-19  60-amp circuit breaker is recommended.

CONNECTING THE BATTERIES IN SERIES (IF REQUIRED FOR YOUR MOTOR)
24 VOLT SYSTEMS:

1. Make sure that the motor is switched off  (speed selector on “0”).
2. Two 12 volt batteries are required.
3. The batteries must be wired in series, only as directed in wiring 

diagram, to provide 24 volts.
a. Connect a connector cable to the positive ( + ) terminal of 

battery 1 and to the negative ( – ) terminal of battery 2.
b. Connect positive ( + ) red motor lead to 

positive ( + ) terminal on battery 2.
c. Connect negative ( – ) black motor lead to 

negative ( – ) terminal of battery 1.
4. For safety reasons do not switch the motor on until the propeller is in the water. If installing a leadwire plug, observe proper 

polarity and follow instructions in your boat owner’s manual. See wiring diagram on following pages.

CAUTION
• For safety reasons, disconnect the motor from the battery or batteries when the motor is not in use or while 

the battery/batteries are being charged. 
• Improper wiring of 24/36 volt systems could cause battery explosion!
• Keep leadwire wing nut connections tight and solid to battery terminals.
• Locate battery in a ventilated compartment.

To trolling motor negative

24 Volt Connection

Battery #1 (Low Side)

Neg - Neg -Pos + Pos +

Battery #2 (High Side)

+24 Volts to trolling motor 
positive (or circuit breaker)

24 Volt Series Connection

©2015 Johnson Outdoors Marine Electronics, Inc.

MOTOR WIRING DIAGRAM

FIVE SPEED SWITCH

BATTERY 1

BATTERY 1 BATTERY 2

RED

YELLOW

B
A

T B
A

T
BLACK

12v

24v

W
H

IT
E

MOTOR

NOTE: This is a universal, multi-voltage diagram. Double-check your motor's voltage for proper connections. Over-Current 
Protection Devices not shown in this illustration.

SLeesch
Typewritten Text
Pontoon 70 is 24-volts only!




